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SECONDARY SCHOOL EXAMINATION – 2021 (ANNUAL) 

SOCIAL SCIENCE (Model Set) 

Time : 2 Hrs.45 Minutes      Full marks-80

Instructions for the candidates : 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s x, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- iz'u i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k 

gSA 

15 minutes of extra time have been allotted to read the question 

paper carefully. 

4- ;g iz’u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c- 

This question paper has two sections, Section-A and Section-B. 

5- [k.M&v esa 80 oLrqfu"B iz’u gSa ftuesa 40 iz’u vfuok;Z gSaA ;fn ijh{kkFkhZ 40 

ls vf/kd iz’uksa ds mÙkj nsrs@nsrh gSa] rks izFke 40 mÙkjksa dk gh ewY;kadu fd;k 

tk,xkA izR;sd ds fy, 1 vad fu/kkZfjr gSA OMR mÙkj i=d ij fn;s x;s 

Sub. Code - 211 
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lgh òr dks uhys@dkys ckWy isu ls HkjsaA OgkbVuj@rjy inkFkZ@CysM@uk[kwu 

vkfn dk OMR mÙkj i=d ij iz;ksx ugha djsa vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In section -A there are 80 objective type questions out of which 40 

questions are compulsory. If the candidate answers more than 40 

questions, the first 40 answers only will be evaluated. Each 

question carries 1 mark. Darken the correct circle on the OMR 

answer sheet with blue /black ball pen. Do not use Whitener 

/Liquid/ Blade/ Nail etc on the OMR answer sheet otherwise the 

result will be invalid. 

6- [k.M&c esa lkekftd foKku ds dqy 5 fo"k;ksa ds y?kq mŸkjh; iz’u gSaA izR;sd 

iz’u ds fy, 2 vad fu/kkZfjr gaSA 

In section-B, there are Short Answer Type Questions of 5 

subjects of Social Science. Each question carries 2 marks.  

(i) bfrgkl esa 6 y?kq mÙkjh; iz’u ¼iz’u la[;k 1 ls 6½ gSa ftuesa fdUgha 3 iz’uksa ds 

mŸkj nsus gSaA 

History has 6 Short Answer Type Questions (Q Nos. 1 to 6) out of 

which any 3 questions are to be answered. 

(ii) jktuhfr foKku esa dqy 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 9 ls 12½ gSa ftuesa ls 

fdUgha 2 iz’uksa ds mŸkj nsus gSaA 
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Political Science has 4 Short Answer Type Questions (Q. Nos. 9 

to 12) out of which any 2 questions are to be answered. 

(iii) vFkZ’kkL= esa 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 15 ls 18½ gSa ftuesa fdUgha 2 

iz’uksa ds mŸkj nsus gSaA 

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 

18) out of which any 2 questions are to be answered. 

(iv) Hkwxksy esa dqy 6 y?kq mÙkjh; iz’u ¼iz’u la[;k 21 ls 26½ gSa ftuesa fdUgha 3 

iz’uksa ds mŸkj nsus gSaA 

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 

26) out of which any 3 questions are to be answered. 

(v) vkink izca/ku esa 4 y?kq mÙkjh; iz’u ¼iz’u la[;k 29 ls 32½ gSa ftuesa ls fdUgha 

2 iz’uksa ds mŸkj nsus gSaA 

Disaster Management has 4 Short Answer Type Questions (Q. 

Nos. 29 to 32) out of which any 2 questions are to be answered. 

(vi) buds vfrfjDr 8 nh?kZ mŸkjh; iz’u ¼iz’u la[;k 7] 8] 13] 14] 19] 20] 27] 28½ 

gSaA izR;sd iz’u ds fy, 4 vad fu/kkfjZr gSaA bfrgkl ]jktuhfr foKku] 

vFkZ’kkL=] ,oa Hkwxksy esa izR;sd ls ,d&,d nh?kZ mÙkjh; iz’u dk mÙkj nsuk gSA 

Apart from these, there are 8 Long Answer Type Questions (Q. 

Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each question carries 4 marks. 

One Long Answer Type Question each from History, Political 

Science, Economics and Geography is to be answered. 

7]      fdlh izdkj ds bysDVªkWfud midj.k dk mi;ksx ugha djsaA 

Do not use any type of electronic instrument. 
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/ SECTION-A 

 / Objective Type Questions. 

iz'u la[;k 1 ls 80 rd ds izR;sd iz’u ds lkFk pkj fodYi gSa] ftuesa ls ,d lgh gSA 

izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA vius }kjk pqus x, fodYi dks OMR 'khV ij 

fpfàr djsaA fdUgha 40 iz’uksa ds mÙkj nssaA      (40x1=40) 

Question No. 1 to 80 have four options each out of which only one is 

correct. Each question carries 1 mark. Mark your selected option on the 

OMR sheet. Answer any 40 questions.     (40x1=40) 

1- fganphu esa dkSu lk jk"Vª 'kkfey ugha gS \ 

(A) fo;ruke     (B) ykvksl 

(C) phu      (D) dacksfM;k  

Which country is not included in Indo-China? 

(A) Vietnam     (B) Laos 

(C) China     (D) Cambodia 

2- fo;uk dk¡xzsl dc gqvk Fkk \ 

(A) 1815     (B) 1818 

(C) 1820     (D) 1848 

When was Vienna Congress held ? 

(A) 1815     (B) 1818 

(C) 1820     (D) 1848 
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3- Hkkjr esa xnj ikVhZ dh LFkkiuk fdlus dh \ 

(A) xqjn;ky flag    (B) pUnz’ks[kj vktkn 

(C) ykyk gjn;ky    (D) lksgu flag Hkk[kuk 

Who founded Ghadar Party in India ? 

(A) Gurdayal Singh   (B) Chandra Shekhar Azad 

(C) Lala Har Dayal    (D) Sohan Singh Bhakna 

4- f}rh; egk;q) ds ckn ;wjksi esa fdl laLFkk dk mn; vkfFkZd nq"izHkkoksa dks 

lekIr djus ds fy, gqvk\ 

(A) lkdZ     (B) ukVks  

(C) vksisd     (D) ;wjksih; la?k 

After the Second World War which organization in Europe 

emerged to remove the economic ill effects? 

(A) SAARC     (B) NATO   

(C) OPEC     (D) European Union 

5- ujksÙke flagkuqd fdl ns’k ds 'kkld Fks \ 

(A) fo;ruke     (B) ykvksl   

(C) FkkbyS.M     (D) dEcksfM;k 

Norodom Sihanouk was ruler of which country? 

(A) Vietnam     (B) Laos   
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(C) Thailand     (D) Cambodia 

6- ok"ipkfyr batu dk vkfo"dkj fdlus fd;k Fkk \ 

(A) vczkge MchZ    (B) tsEl okV 

(C) tktZ LVhQsalu    (D) jkcZV QqYVu 

Who had invented the steam engine ? 

(A) Abraham Derby   (B) James Watt 

 (C) George Stephenson   (D) Robert Fulton 

7- VkVk vk;ju ,.M LVhy dEiuh dh LFkkiuk dc dh xbZ \ 

(A) 1854     (B) 1907 

(C) 1915     (D) 1923  

When was the Tata Iron and Steel Company established?   

(A) 1854     (B) 1907 

(C) 1915     (D) 1923 

8- xksy?kj dgk¡ fLFkr gS \ 

(A) dksydkrk     (B) iVuk   

(C) fnYyh     (D) x;k 

Where is Golghar situated ? 

(A) Kolkata     (B) Patna 

(C) Delhi     (D) Gaya 
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9- fdl vesfjdh jk"Vªifr us ^U;w Mhy* ykxw dh \ 

(A) oqMjks foYlu    (B) ,Q0 Mh0 :tosYV 

(C) vczkge fyadu    (D) tkWu ,Q0 dSusMh 

Which American President launched ‘New Deal’ ? 

(A) Woodrow Wilson   (B) F. D. Roosevelt  

(C) Abraham Lincoln   (D) John F. Kennedy 

10- usiksfy;u lafgrk fdl o"kZ ykxw dh xbZ \ 

(A) 1789     (B) 1791  

(C) 1801     (D) 1804 

When was Napoleonic code introduced ? 

(A) 1789     (B) 1791  

(C) 1801     (D) 1804 

11- ÝSadQVZ dh laf/k dc gqbZ \ 

(A) 1864     (B) 1866   

(C) 1870     (D) 1871 

When was the treaty of Frankfurt signed ? 

(A) 1864     (B) 1866   

(C) 1870     (D) 1871 

12- dkyZ ekDlZ dk tUe dgk¡ gqvk Fkk \ 
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(A) teZuh      (B) baXySaM  

(C) Ýkal     (D) iksySaM 

Where was Karl Marx born ? 

(A) Germany     (B) England 

(C) France     (D) Poland 

13- 1991 esa fuEu esa ls dkSu vfLrRo esa vk;k \ 

(A) MCyw Vh vks (WTO)   (B) xSV (GATT)   

(C) ubZ vkfFkZd uhfr    (D) buesa ls dksbZ ugha 

Which of the following came into existence in 1991 ? 

(A) WTO     (B) GATT 

(C) New Economic Policy  (D) None of these 

14- bu vkfFkZd fØ;kvksa esa dkSu izkFkfed {ks= ls lacaf/kr ugha gS \ 

 (A) eRL; ikyu    (B) cSafdax 

 (C) [kuu     (D) ou 

Which of the following economic activities is not related to the 

primary sector ? 

(A) Fishery            (B) Banking 

(C) Mining          (D) Forest 

15- te’ksniqj] nqxkZiqj] fHkykbZ vkSj lyse fdl m|ksx ds dsUnz gSa \ 
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(A) lhesaV     (B) phuh  

(C) vk;ju vkSj LVhy    (D) oL= 

Jamshedpur, Durgapur, Bhilai and Salem are the centres of which 

industry ? 

(A) Cement     (B) Sugar 

(C) Iron and steel    (D) Textile 

16- izfr O;fDr vk; dk vk’k; gS % 

(A) lEiw.kZ vk;     (B) vkSlr vk; 

(C) jk"Vªh; vk;    (D) lhekUr vk; 

Per capita income refers to : 

(A) Whole income    (B) Average income 

(C) National income   (D) Marginal income 

17- jk"Vªh; fodkl ifj"kn~ dk xBu dc gqvk \ 

(A) 1950     (B) 1951 

(C) 1952     (D) 1955  

When was National Development Council formed ? 

(A) 1950     (B) 1951 

(C) 1952     (D) 1955 

18- ckaXykns’k dh eqnzk gS % 
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(A) #i;k     (B) MkWyj 

(C) Øksuk     (D) Vdk 

The currency of Bangladesh is : 

(A) Rupee     (B) Dollar  

(C) Krona     (D) Taka 

19- jk"Vªh; vk; dk vFkZ gS % 

(A) ljdkj dh vk;      (B) ikfjokfjd vk;   

(C) lkoZtfud miØeksa dh vk;  (D) mRiknu ds lk/kuksa dh vk; 

National income refers to : 

(A) Income of government   

(B) Family income   

(C) Income from Public enterprises  

(D) Income of factors of production 

20- Hkkjr esa miHkksDrk laj{k.k dkuwu dc ykxw gqvk \ 

(A) 1968     (B) 1986  

(C) 1984      (D) 1976 

When was the Consumer Protection Act enacted in India? 

(A) 1968     (B) 1986  

(C) 1984      (D) 1976 
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21- Hkwfe fodkl cSad }kjk fdl izdkj dk _.k iznku fd;k tkrk gS \ 

(A) vYidkyhu _.k    (B) e/;edkyhu _.k 

(C) nh?kZdkyhu _.k    (D) buesa ls lHkh 

Which type of loan is given by Land Development Bank ? 

(A) Short term loan   (B) Medium term loan   

(C) Long term loan    (D) All of these 

22- Hkkjr esa fdl izdkj dh vkfFkZd iz.kkyh ikbZ tkrh gS \ 

(A) iw¡thoknh vFkZO;oLFkk   (B) lektoknh vFkZO;oLFkk 

(C) fefJr vFkZO;oLFkk    (D) lkE;oknh vFkZO;oLFkk 

Which type of economic system is found in India ? 

(A) Capitalist economy   (B) Socialist economy 

(C) Mixed economy   (D) Communist economy 

23- ukxktqZu lkxj ifj;kstuk lEcfU/kr gS % 

(A) lryt ls     (B) dkosjh ls 

(C) ueZnk ls     (D) d`".kk ls 

Nagarjun Sagar Project is related to : 

(A) Sutlej     (B) Cauvery  

(C) Narmada     (D) Krishna 
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24- 26 fnlEcj] 2004 dks fo’o dk dkSu Hkkx lqukeh ls izHkkfor gqvk Fkk \ 

(A) if’pe ,f’k;k    (B) vaVkdZfVd egklkxj  

(C) vVykafVd egklkxj   (D) caxky dh [kkM+h 

Which part of the world was affected by Tsunami on the 26th 

December, 2004. 

(A) West Asia    (B) Antarctic ocean 

(C) Atlantic ocean    (D) Bay of Bengal 

25- lkekU; lapkj O;oLFkk ds ckf/kr gksus dk eq[; dkj.k D;k gS \ 

(A) dscqy dk VwV tkuk   (B) lapkj Vkojksa dh nwjh   

(C) Vkojksa dh Å¡pkbZ esa deh   (D) buesa ls dksbZ ugha 

What is the main cause of the failure of common communication 

system ? 

(A) Breakage of cable    

(B) Distance of communication towers  

(C) Reduction in the height of towers 

(D) None of these 

26- ck<+ {kfr igq¡pkrh gS % 

(A) Qlyksa dks     (B) i’kqvksa dks 

(C) Hkouksa dks     (D) mijksDr lHkh dks 
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Flood damages : 

(A) Crops     (B) Animals 

(C) Buildings     (D) All of the above 

27- Lof.kZe prqHkqZt lEcfU/kr gS % 

(A) jsyos ls     (B) lM+d ekxksZa ls  

(C) ty ekxksZa ls    (D) ok;q ekxksZa ls 

Golden Quadrilateral is related to : 

(A) Railways     (B) Roadways  

(C) Waterways    (D) Airways 

28- Ckk<+ ds le; yksxksa dks tkuk pkfg, % 

(A) xk¡o ds ckgj    (B) [ksrksa esa 

(C) mPp Hkwfe ij    (D) dgha ugha  

During flood people should go : 

(A) Outside the village   (B) In the fields 

(C) On highland    (D) Nowhere 

29- fuEu esa ls dkSu {ks=h; jktuhfrd ny gS \ 

(A) Hkkjrh; turk ikVhZ   (B) Hkkjrh; jk"Vªh; dkaxzsl 

(C) turk ny ¼;wukbVsM½   (D) Hkkjrh; dE;qfuLV ikVhZ 

Which of the following is a regional political party? 
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(A) Bhartiya Janta Party   (B) Indian National Congress 

(C) Janta Dal (United)   (D) Communist Party of India 

30- iapk;r ds pquko dkSu djokrk gS \ 

(A) dsUnz ljdkj    (B) ftyk ifj"kn~  

(C) jkT; pquko vk;ksx   (D) jkT; ljdkj 

Who conducts the Panchayat elections ? 

(A) Central Government   (B) Zila Parishad 

(C)  State Election Commission (D) State Government 

31- Hkkjr ds fdl jkT; ls iapk;rh jkt dh 'kq#vkr gqbZ \ 

(A) fcgkj     (B) mÙkj izns’k 

(C) iatkc     (D) jktLFkku 

From which state of India Panchayati Raj began ? 

(A) Bihar     (B) Uttar Pradesh 

(C) Punjab     (D) Rajasthan 

32- o"kZ 1975 Hkkjrh; jktuhfr esa fdl fy, tkuk tkrk gS \ 

(A) bl o"kZ vke pquko gq, FksA   

(B) Jherh bafnjk xk¡/kh iz/kkuea=h cuh FkhA 

(C) ns’k esa vkarfjd vkikrdky ykxw gqvk FkkA 

(D) turk ikVhZ dh ljdkj cuh FkhA 
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What for the year 1975 is known in Indian politics ? 

(A) General elections were held this year. 

(B) Mrs. Indira Gandhi became the Prime Minister. 

(C) Internal emergency was imposed in the country. 

(D) Janta Party government was formed. 

33- ^rkM+h fojks/kh vkanksyu* fdl izkar ls 'kq: fd;k x;k \ 

(A) fcgkj      (B) mÙkj izns’k 

(C) vka/kz izns’k     (D) rfeyukMq 

In which province did the Toddy movement begin? 

(A) Bihar     (B) Uttar Pradesh 

(C) Andhra Pradesh   (D) Tamil Nadu 

34- /keZ dks leqnk; dk eq[; vk/kkj dkSu ekurk gS \ 

(A) lkaiznkf;d      (B) ukjhoknh 

(C) /keZ fujis{k     (D) tkfroknh 

Who considers religion as the main base of the community ? 

(A) Communal    (B) Feminist 

(C) Secular     (D) Racist 

35- lÙkk esa lk>snkjh lgh gS] D;ksafd % 

(A) ;g fofo/krk dks c<+krh gSA    
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(B) ns’k dh ,drk dks detksj djrh gSA  

(C) QSlys ysus esa nsj djokrh gSA 

(D) fofHkUu leqnkvksa ds chp Vdjko de djrh gSA 

Power sharing is right because : 

(A) It increases diversity. 

(B) Undermines the unity of the country. 

(C) Delays decision making. 

(D) Reduces conflict between different communities. 

36- usiky esa lIrnyh; xBca/ku dk eq[; mís’; D;k gS \ 

(A) jktk dks ns’k NksM+us ij etcwj djukA 

(B) yksdra= dh LFkkiuk djukA 

(C) Hkkjr&usiky ds chp laca/kksa dks csgrj cukukA 

(D) loZnyh; ljdkj dh LFkkiuk djukA 

What is the main objective of the Seven Party alliance in Nepal ? 

(A) Forcing the king to leave the country. 

(B) To establish democracy. 

(C) To make better relations between India and Nepal. 

(D) To establish all party government. 

37- Hkkjr ds bu jkT;ksa esa dkSu dks;ys dk lcls cM+k mRiknd gS \ 
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(A) if’pe caxky    (B) >kj[k.M  

(C) vksfM’kk     (D) NÙkhlx<+  

Which of these states of India is the largest producer of coal? 

(A) West Bengal    (B) Jharkhand 

(C) Odisha     (D) Chhattisgarh 

38- LkkSj ÅtkZ ds mRiknu ds fy, lokZf/kd mi;qDr jkT; gS % 

(A) vle      (B) v:.kkpy izns’k 

(C) jktLFkku     (D) es?kky; 

The most suitable state for the generation of Solar energy is : 

(A) Assam     (B) Arunachal Pradesh 

(C) Rajasthan    (D) Meghalaya 

39- fcgkj dh igyh unh ?kkVh ifj;kstuk dkSu gS \ 

(A) x.Md unh ?kkVh ifj;kstuk  (B) dkslh unh ?kkVh ifj;kstuk 

(C) ckxerh ifj;kstuk    (D) lksu unh ?kkVh ifj;kstuk 

Which is the first river valley project of Bihar ? 

(A) Gandak river valley project  (B) Kosi river valley project 

(C) Bagmati project   (D) Sone river valley project 

40- lqUnjou Vkbxj fjtoZ dgk¡ gS \ 

(A) if’pe caxky     (B) vksfM’kk  

(C) mÙkjk[k.M     (D) dsjy 
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Where is Sundarvan Tiger Reserve? 

(A) West Bengal    (B) Odisha 

(C) Uttarakhand    (D) Kerala 

41- Hkkjr esa lcls yEck ck¡/k dkSu gS \ 

(A) Hkk[kM+k ukaxy ck¡/k    (B) ukxktqZu lkxj ck¡/k  

(C) ghjkdqaM ck¡/k    (D) Vsgjh ck¡/k  

Which is the longest dam in India ? 

(A) Bhakhra Nangal dam  (B) Nagarjuna Sagar dam 

(C) Hirakund dam    (D) Tehri dam 

42- dkSu izkFkfed ÅtkZ dk mnkgj.k ugha gS \ 

(A) dks;yk      (B) fo|qr  

(C) isVªksfy;e     (D) izkdf̀rd xSl 

Which is not an example of primary energy ? 

(A) Coal     (B) Electricity 

(C) Petroleum    (D) Natural gas 

43- iwoZ e/; jsy dk eq[;ky; dgk¡ gS \ 

(A) ubZ fnYyh      (B) dksydkrk 

(C) eqEcbZ     (D) gkthiqj 

Where is the headquarters of East Central Railway ? 
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(A) New Delhi    (B) Kolkata 

(C) Mumbai     (D) Hajipur 

44- pkoy gS % 

(A) [kjhQ Qly     (B) jch Qly 

(C) tk;n Qly    (D) buesa ls dksbZ ugha 

Rice is : 

(A) Kharif crop    (B) Rabi crop 

(C) Zaid crop    (D) None of these 

45- fuEu esa ls dkSu futh {ks= dh dEiuh ugha gS \ 

(A) Mkcj      (B) ctkt vkWVks fyfeVsM 

(C) lsy      (D) fVLdks  

Which of the following is not a private sector industry ? 

(A) Dabur     (B) Bajaj Auto Ltd. 

(C) SAIL     (D) TISCO 

46- dkSu [kfut dksMjek ls lEcfU/kr gS \ 

(A) ckWDlkbV      (B) vHkzd  

(C) ykSg v;Ld    (D) rk¡ck 

Which mineral is associated with Kodarma ? 

(A) Bauxite     (B) Mica 
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(C) Iron ore     (D) Copper 

47- vkijs’ku ¶yM dk nwljk uke D;k gS \ 

(A) gfjr Økafr      (B) ihyh Økafr 

(C) 'osr Økafr     (D) uhyh Økafr 

What is another name of operation flood ? 

(A) Green revolution   (B) Yellow revolution 

(C) White revolution   (D) Blue revolution 

48- yhph ds mRiknu ds fy, fcgkj ds dkSu nks ftys izfl) gSa \ 

(A) iwf.kZ;k vkSj dfVgkj   (B) x;k vkSj uoknk  

(C) iVuk vkSj ukyank    (D) eqt¶Qjiqj vkSj oS’kkyh 

Which two districts of Bihar are famous for the production of 

Lichi? 

(A) Purnea and Katihar   (B) Gaya and Nawada 

(C) Patna and Nalanda   (D) Muzaffarpur and Vaishali 

49- vk; rFkk miHkksx dk varj % 

(A) fofue; dgykrk gSA   (B) eqnzk dgykrk gSA  

(C) cpr dgykrk gSA    (D) buesa ls dksbZ ugha 

The difference between Income and Consumption is known as : 

(A) Exchange    (B) Money 
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(C) Saving     (D) None of these 

50- buesa ls dkSu O;kikfjd cSad dh tek dk izdkj ugha gS \ 

(A) LFkk;h tek     (B) pkyw tek  

(C) vf/kfod"kZ     (D) vkorhZ tek 

Which of these is not a type of deposit of commercial bank? 

(A) Fixed deposit    (B) Current deposit 

(C) Overdraft    (D) Recurring deposit 

51- iw¡th cktkj esa fdl izdkj ds _.kksa dk ysu&nsu gksrk gS \ 

(A) vYidky     (B) nh?kZdky  

(C) A ,oa B nksuksa    (D) buesa ls dksbZ ugha 

What type of loans are traded in the capital market ? 

(A) Short-term    (B) Long-term 

(C) ‘A’ and ‘B’ both    (D) None of these 

52- fdlus dgk] ^^xzkgd gekjh nqdku esa vkus okyk lcls egÙoiw.kZ O;fDr gSA og 

ge ij fuHkZj ugha] ge mu ij fuHkZj gSaA** 

(A) iafMr tokgjyky usg:   (B) jktho xk¡/kh  

(C) egkRek xk¡/kh    (D) ,0 ih0 ts0 vCnqy dyke 

Who said, “A customer is the most important visitor on our 

premises. He is not dependent on us, we are dependent on him.” 

(A) Pandit Jawaharlal Nehru  (B) Rajeev Gandhi 
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(C) Mahatma Gandhi   (D) A. P. J. Abdul Kalam 

53- buesa ls dkSu xSj vkfFkZd vk/kkjHkwr lajpuk dk ?kVd gS \ 

(A) lapkj     (B) foÙk  

(C) f’k{kk     (D) ;krk;kr 

Which of these is a component of non-economic infrastructure ? 

(A) Communication   (B) Finance 

(C) Education    (D) Transportation 

54- buesa ls ÅtkZ dk xSj&ikjEifjd lzksr dkSu gS \ 

(A) Tokjh; ÅtkZ    (B) isVªksfy;e 

(C) dks;yk     (D) izkdf̀rd xSl 

Which of these is a unconventional source of energy ? 

(A) Tidal energy    (B) Petroleum 

(C) Coal     (D) Natural gas 

55- xks.Mokuk lewg ds dks;ys dk fuekZ.k dc gqvk Fkk \ 

(A) 25 djksM+ o"kZ iwoZ    (B) 20 yk[k o"kZ iwoZ  

(C) 20 gtkj o"kZ iwoZ    (D) buesa ls dksbZ ugha 

When was coal of Gondwana system formed ? 

(A) 25 crore years ago   (B) 20 lakh years ago 

(C) 20 thousand years ago  (D) None of these 
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56- fuEu esa ls [kjhQ dh Qly dkSu gS \ 

(A) pkoy     (B) eDdk 

(C) dikl     (D) buesa ls lHkh 

Which of the following is a Kharif crop ? 

(A) Rice     (B) Maize 

(C) Cotton     (D) All of these 

57- buesa ls dkSu js’ksnkj Qly ugha gS \ 

(A) dikl     (B) twV  

(C) xUuk     (D) lu 

Which of these is not a fibrous crop ? 

(A) Cotton     (B) Jute 

(C) Sugarcane    (D) Flax 

58- dkaMyk fo’ks"k vkfFkZd {ks= dgk¡ gS \ 

(A) egkjk"Vª     (B) xqtjkr  

(C) dsjy     (D) if’pe caxky 

Where is Kandla special economic zone ? 

(A) Maharashtra    (B) Gujarat 

(C) Kerala     (D) West Bengal 

59- xqVsucxZ dk tUe gqvk Fkk % 
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(A) vesfjdk esa     (B) teZuh esa 

(C) tkiku esa     (D) baXySaM esa 

Gutenberg was born in : 

(A) America     (B) Germany 

(C) Japan     (D) England 

60- baXySaM esa eqnz.kdyk dh 'kq#vkr fdlus dh \ 

(A) gSfeYVu     (B) dSDlVu 

(C) ,fMlu     (D) fLeFk 

Who started printing in England ? 

(A) Hamilton     (B) Caxton 

(C) Edison     (D) Smith 

61- 1917 dh igyh :lh Økafr fdl uke ls tkuh tkrh gS \ 

(A) Qjojh Økafr    (B) vizSy Økafr 

(C) vDVwcj Økafr    (D) uoEcj Økafr 

The first Russian revolution of 1917 is known by which name ? 

(A) February revolution   (B) April revolution 

(C) October revolution   (D) November revolution 

62- yky lsuk dk xBu fdlus fd;k Fkk \ 

(A) dkyZ ekDlZ     (B) LVkfyu 
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(C) VªkWVLdh     (D) dsjsaLdh 

Who formed the Red army? 

(A) Karl Marx    (B) Stalin 

(C) Trotsky     (D) Kerensky 

63- vkWy bafM;k eqfLye yhx dh LFkkiuk dc gqbZ \ 

(A) 1921     (B) 1906 

(C) 1929     (D) 1936 

When was All India Muslim League formed ? 

(A) 1921     (B) 1906 

(C) 1929     (D) 1936 

64- r[r Jh gjeanjth lkfgc dgk¡ fLFkr gS \ 

(A) iVuk     (B) ve`rlj 

(C) fnYyh     (D) vkxjk 

Where is Takht Shree Harmanderji Sahib located ? 

(A) Patna     (B) Amritsar 

(C) Delhi     (D) Agra 

65- flikgh fonzksg dc gqvk Fkk \ 

(A) 1855     (B) 1857 

(C) 1885     (D) 1887 
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When did the Sepoy Revolt take place ? 

(A) 1855     (B) 1857 

(C) 1885     (D) 1887 

66- 'osr Økafr dk laca/k vFkZO;oLFkk ds fdl {ks= ls gS \ 

(A) izkFkfed {ks=    (B) f}+rh;d {ks= 

(C) rr̀h;d {ks=    (D) buesa ls dksbZ ugha 

White revolution is related to which sector of economy ? 

(A) Primary sector    (B) Secondary sector 

(C) Tertiary sector    (D) None of these 

67- fcgkj fnol dc euk;k tkrk gS \ 

(A) 20 tuojh     (B) 22 ekpZ 

(C) 23 twu     (D) 25 vxLr 

When is Bihar Diwas celebrated ? 

(A) 20th January    (B) 22nd March 

(C) 23rd June    (D) 25th August 

68- lcls cM+s i'kq esyk dk vk;kstu fd;k tkrk gS % 

(A) lksuiqj esa     (B) gkthiqj esa 

(C) cDlj esa     (D) Hkkxyiqj esa 

The largest cattle fair is organised in : 
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(A) Sonepur     (B) Hajipur 

(C) Buxar     (D) Bhagalpur 

69- lklkjke esa fdl ,sfrgkfld 'kkld dk edcjk fLFkr gS \ 

(A) vykmíhu f[kyth    (B) vkSjaxtsc 

(C) 'ksj’kkg lwjh    (D) dqrqcqíhu ,scd 

The tomb of which historical ruler is located in Sasaram ? 

(A) Allaudin Khilji    (B) Aurangzeb 

(C) Shershah Suri    (D) Qutubuddin Aibak 

70- ¶ykabx 'kV~y e’khu dk vkfo"dkj fdlus fd;k \ 

(A) tsEl gkjxzhOt    (B) tkWu ds 

(C) jkWcVZ QqYVu    (D) tsEl okWV 

Who invented flying shuttle machine ? 

(A) James Hargreaves   (B) John Kay 

(C) Robert Fulton    (D) James Watt 

71- nqxkZiqj LVhy IykaV fdl jkT; esa fLFkr gS \ 

(A) e/; izns’k     (B) vksfM’kk 

(C) if’pe caxky    (D) >kj[kaM 

In which state is Durgapur steel plant located ? 

(A) Madhya Pradesh   (B) Odisha 
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(C) West Bengal    (D) Jharkhand  

72- lsMku ;q) dc gqvk \ 

(A) 1871     (B) 1870 

(C) 1848     (D) 1815 

When did the Sedan war take place ? 

(A) 1871     (B) 1870 

(C) 1848     (D) 1815 

73- ghxsy dkSu Fkk \ 

(A) teZu pkalyj    (B) jktuhfrK 

(C) nk’kZfud     (D) buesa ls dksbZ ugha 

Who was Hegel ? 

(A) German Chancellor   (B) Politician 

(C) Philosopher    (D) None of these 

74- ekpZ] 1946 esa Ýkal ,oa fo;ruke ds chp gksus okyk le>kSrk fdl uke ls 

tkuk tkrk gS \ 

(A) tsusok le>kSrk    (B) guksbZ le>kSrk 

(C) isfjl le>kSrk    (D) buesa ls dksbZ ugha 

The agreement held between France and Vietnam in March, 1946 

is known by which name ? 
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(A) Geneva Agreement   (B) Hanoi Agreement 

(C) Paris Agreement   (D) None of these 

75- caxky foHkktu dc fujLr fd;k x;k \ 

(A) 1905     (B) 1911 

(C) 1915     (D) 1922 

When was partition of Bengal revoked ? 

(A) 1905     (B) 1911 

(C) 1915     (D) 1922 

76- fdl Hkwdaih; rjax dh xgurk lcls de gksrh gS \ 

(A) ih&rjax     (B) ,l&rjax 

(C) ,y&rjax     (D) Vh&rjax 

Which seismic wave has the lowest intensity ? 

(A) P-Wave     (B) S-Wave 

(C) L-Wave     (D) T-Wave 

77- dqy ty dk fdruk izfr’kr Hkkx egklkxjksa esa gS \ 

(A) 80%     (B) 85% 

(C) 95%     (D) 97% 

What percentage of the total water is in the oceans ? 
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(A) 80%     (B) 85% 

(C) 95%     (D) 97% 

78- fcgkj dh fdl unh ij unh ?kkVh ifj;kstuk ugha gS \ 

(A) lksu      (B) x.Md 

(C) dkslh     (D) iquiqu 

There is no river valley project on which river of Bihar ? 

(A) Sone     (B) Gandak 

(C) Kosi     (D) Punpun 

79- xsgw¡ Qly gS % 

(A) [kjhQ     (B) jch 

(C) tk;n     (D) buesa ls dksbZ ugha 

Wheat crop is : 

(A) Kharif     (B) Rabi 

(C) Zaid     (D) None of these 

80- cyoar jk; esgrk lehfr dk laca/k buesa fdlls gS \ 

(A) dsUnz&jkT; laca/k    (B) iapk;rh jkt O;oLFkk 

(C) foÙkh; O;oLFkk    (D) la?kh; O;oLFkk 

Which of the following is related to Balwant Roy Mehta 

committee? 
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(A) Centre-State relation   (B) Panchayat Raj system 

(C) Financial system   (D) Federal system 

Section-B

Short Answer Type Questions 

History

iz’u la[;k 1 ls 6 rd y?kq mÙkjh; gSaA buesa ls fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gaSA        ¼ x2= ½ 

Question nos. 1 to 6 are Short Answer Type. Answer any 3 questions. Each 

question carries 2 marks.       (3X2=6) 

1- jk"Vªokn dks ifjHkkf"kr dhft,A      ¼2½ 

Define nationalism. 

2- Økafr ls iwoZ :lh fdlkuksa dh fLFkfr dSlh Fkh \    ¼2½ 

How was the condition of Russian farmers before the revolution ? 

3- nkaMh ;k=k dk D;k mís’; Fkk \      ¼2½ 

What was the objective of Dandi Yatra ? 

4- xqVsucxZ us eqnz.k ;a= dk fodkl dSls fd;k \    ¼2½ 

How did Gutenberg develop printing machine ? 

5- HkweaMyhdj.k dks ifjHkkf"kr djsaA      ¼2½ 

Define Globalisation. 

6- vkWy bafM;k VªsM ;wfu;u dk¡xzsl dh LFkkiuk D;ksa gqbZ \   ¼2½ 

Why was All India Trade Union Congress established ?



32 
 

Long Answer Type Questions

 iz’u la[;k 7 vkSj 8 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd iz’u 

ds fy, 4 vad fu/kkZfjr gSaA         (1X4=4) 

Question nos. 7 and 8 are Long Answer Type. Answer any one of them. 

Each question carries 4 marks.      (1x4=4) 

7- mifuos’kokn ls vki D;k le>rs gSa \ fdl izdkj vkS|ksxhdj.k us mifuos’kokn 

dks tUe fn;k \ 

What do you understand by colonialism? How did industrilisation 

give birth to colonialism ? 

8- :lh Økafr ds dkj.kksa dh foospuk dhft,A 

Discuss the causes of Russian revolution. 

POLITICAL SCIENCE 

Short Answer Type Questions

iz'u la[;k 9 ls 12 rd y?kq mÙkjh; gSaA buesa ls fdUgha nks iz’uksa ds mÙkj nsaA izR;sd ds 

fy, 2 vad fu/kkZfjr gSA         ¼2x2=4½ 

Question nos. 9 to 12 are Short Answer Type. Answer any two questions. 

Each question carries 2 marks.      (2x2=4) 

9- fcgkj esa Nk= vkanksyu ds izeq[k dkj.k D;k Fks \   ¼2½ 

What were the main reasons for the students’ movement in 

Bihar? 
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10- lkaiznkf;drk vkSj /keZ fujis{krk esa D;k varj gS \    ¼2½ 

What is the difference between communalism and secularism ? 

11- xzke iapk;r ds nks dk;Z crkb, A      ¼2½ 

State two functions of Gram Panchayat. 

12- lÙkk dh lk>snkjh ls vki D;k le>rs gSa \     ¼2½ 

What do you understand by power sharing. 

Long Answer Type Questions

iz’u la[;k 13 ,oa 14 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd ds fy, 4 

vad fu/kkZfjr gSaA          (1x4=4½  

Question nos. 13 and 14 are Long Answer Type. Answer any one of them. 

Each question carries 4 marks.      (1x4=4½ 

13- xBca/ku dh jktuhfr dSls yksdra= dks izHkkfor djrh gS \  ¼4½ 

How does the politics of coalition affect democracy ? 

14- Hkkjr esa tkfrokn iuius ds fdUgha pkj dkj.kksa dk o.kZu djsaA  ¼4½ 

Describe any four reasons for the rise of casteism in India. 

Economics 

Short Answer Type Questions
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iz'u la[;k 15 ls 18 rd y?kq mÙkjh; gSaA buesa ls fdUgha 2 iz’uksa ds mŸkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA        ¼2x2=4½ 

Question nos. 15 to 18 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.        (2X2=4) 

15- vFkZO;oLFkk dks ifjHkkf"kr djsaA      ¼2½ 

Define Economy. 

16- ekSfnzd iz.kkyh D;k gS \       ¼2½ 

What is Monetary system ? 

17- mnkjhdj.k dks ifjHkkf"kr djsaA      ¼2½ 

Define Liberalisation. 

18- okg~;lzksrh dks ifjHkkf"kr djsaA       ¼2½ 

Define outsourcing. 

Long Answer Type Questions

 iz’u la[;k 19 vkSj 20 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd 

iz’u ds fy, 4 vad fu/kkZfjr gSaA       (1x4=4½  

Question nos. 19 and 20 are Long Answer Type. Answer any one of them. 

Each question carries 4 marks.      (1x4 = 4) 

19- lgdkfjrk ds egÙoiw.kZ rÙo D;k gSa\ jkT; ds fodkl esa bldh Hkwfedk dk 

o.kZu djsaA         ¼4½ 

What are the important elements of Co-operation ? Describe its 

role in the development of a state. 
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20- vkfFkZd fodkl D;k gS \ vkfFkZd fodkl rFkk vkfFkZd o`f) esa varj crkosaA 

           ¼4½ 

What is Economic development? Distinguish between Economic 

development and Economic growth. 

Geography 

Short Answer Type Questions 

iz'u la[;k 21 ls 26 rd y?kq mÙkjh; gaSA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA         ¼3x2=6½ 

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. 

Each question carries 2 marks.       (3x2=6) 

21- fcgkj dh izeq[k unh ?kkVh ifj;kstukvksa ds uke fyf[k,A   2 

Write the names of the main river valley projects of Bihar. 

22- Hkkjrh; d`f"k dh fuEu mRikndrk ds nks dkj.k crkb,A   2 

State two causes of low productivity of Indian agriculture. 

23- lalk/ku dks ifjHkkf"kr dhft,A      2 

Define resource. 

24- lrr fodkl ls vki D;k le>rs gSa \     2 

What do you mean by sustainable development ? 

25- ok;q ifjogu dh fdUgha nks fo’ks"krkvksa dk mYys[k djsaA   2 

Mention any two characteristics of air transportation. 

26- ijek.kq 'kfDr ds fy, fdu [kfutksa dh vko’;drk gksrh gS \  2 
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Which minerals are required for nuclear power ? 

Long Answer Type Questions

 iz’u la[;k 27 ,oa 28 nh?kZ mÙkjh; gSaA fdlh ,d iz’u dk mÙkj nsaA izR;sd iz’u ds 

fy,  4 vad fu/kkZfjr gSaA         (1x4=4) 

Question Nos. 27 and 28 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.      (1x4=4) 

27- e`nk laj{k.k ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on soil conservation. 

28- Hkkjrh; vFkZO;oLFkk esa ifjogu ,oa lapkj dh egÙkk dk o.kZu dhft,A 

Describe the importance of transport and communication in Indian 

economy. 

Disaster Management 

Short Answer Type Questions

iz'u la[;k 29 ls 32 rd y?kq mÙkjh; gSaA fdUgha 2 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA         ¼2x2=4½ 

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.       (2x2=4) 

29- lqukeh dks ifjHkkf"kr djsaA       2 
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Define Tsunami. 

30- ck<+ dks fu;af=r djus ds fdUgha nks mik;ksa dk mYys[k dhft,A  2 

Mention any two measures to control flood. 

31- izkdf̀rd vkink esa lapkj ek/;eksa dh mi;ksfxrk dh foospuk dhft,A 2 

Discuss the utility of the means of communication during natural 

disaster. 

32- vkx ls ihfM+r O;fDr ds fy, D;k izFke mipkj pkfg, \   2 

What should be the first aid for a person suffering from burn 

injury? 


